
 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto Networks Hardware Accessories Cross Reference and RoHS Declaration of Conformity 
 
The table below is a Cross Reference for all Palo Alto Networks Hardware Accessories and includes 
the Palo Alto Networks SKU, RoHS Compliance, Harmonized Tariff Schedule, ECCN and License 
information. All parts listed below are RoHS compliant and meet the requirements of the current 
RoHS 2 directive 2011/65/EU. 
 
Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-SFP-SX Transceiver, SFP, Multi-mode, 
Short, Fiber 

920-000001 RoHS 2 8517.62.0090 5A991 NLR 

PAN-SFP-LX Transceiver, SFP, Single-
mode, Long, Fiber 

920-000002 RoHS 2 8517.62.0090 5A991 NLR 

PAN-FIPS-KIT-500 Peregrine FIPS Kit 920-000005 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-SFP-CG Transceiver, SFP, Copper Gig 920-000006 RoHS 2 8517.62.0090 5A991 NLR 

PAN-SFP-PLUS-SR Transceiver, TX/RX Optical 
Fiber Transceivers, 10Gbps 
20-Pin SFP+ Short Range 

920-000007 RoHS 2 8517.62.0090 5A991 NLR 

PAN-SFP-PLUS-LR Transceiver, TX/RX Optical 
Fiber Transceivers, 10Gbps 
20-Pin SFP+ Long Range 

920-000008 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-200-PWR-
AC 

PA-200 Power Supply - no 
power cord 

920-000011 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-5000-
PWR-AC 

PA-5000 Power Brick, AC, 
N+1 Redundant Module 

920-000016 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-5000-
PWR-DC 

PA-5000 Power Brick, DC, 
N+1 Redundant Module 

920-000017 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-5000-
PWR-AC 

PA-5000 Power Brick, AC, 
N+1 Redundant Module 

920-000016 RoHS 2 8504.40.8500 EAR99 NLR 

 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PA-5000-FAN Fan Tray Assembly, PA-5000 
series 

920-000021 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-PA-5000-
FLTR 

Air Filter, Fan Tray, PA-5000 
series 

920-000022 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-SFP-ZX Transceiver, TX/RX Optical 
Fiber 

920-000023 RoHS 2 8517.62.0090 5A991 NLR 

PAN-SFP-PLUS-
CU-5M 

Transceiver, SFP+ Passive 
Cable Assembly, 10Gbps, 24 
AWG Cable 

920-000025 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-500-PKG-
SET 

Packaging set, PA-500 Series 
– Box, Foam, Tray, Bag 

920-000030 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-500-BOX-
SET 

Box Set, PA-500 Series – Box 920-000031 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5000-
PKG-SET 

Packaging set, PA-5000 Series 
– Box, Foam, Liner, Bag 

920-000032 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5000-
BOX-SET 

Box Set, PA-5000 Series – Box 920-000033 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-200-RCK PA-200 Rack Mount Kit – 
holds one device 

920-000035 RoHS 2 8302.42.3065 EAR99 NLR 

Kit, PA-200-PKG-
Set 

Package Set, PA-200 – Box, 
Foam Inserts 

920-000036 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-FIPS-KIT-
5000 

Hawk FIPS Kit 920-000037 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-3000-
PKG-SET 

Package Set, PA-3000 – Box, 
Foam Inserts 

920-000040 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-3000-
BOX-SET 

Box Set, PA-3000 Series – Box 920-000041 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-100-PKG-
SET 

Package Set, PA-M-100 – Box, 
Foam Inserts 

920-000042 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-100-BOX-
SET 

Box Set, PA-M-100 – Box 920-000043 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-100-HDD-
1TB-D 

Dual blank 1TB HDD, PA-M-
100 

920-000044 RoHS 2 8471.70.4065 EAR99 NLR 

PAN-M-100-RCK PA-M-100 Rack Mount Kit – 
holds one device 

920-000045 RoHS 2 8302.42.3065 EAR99 NLR 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-M-100-HDC Spare Blank HDD Tray 
Assembly, PA-M-100 

920-000047 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-500-ACC Spare Accessory kit, PA-500 920-000050 RoHS 2 See attachment EAR99 NLR 

PAN-PA-5060-ACC Spare Accessory kit, PA-5060 920-000051 RoHS 2 See attachment EAR99 NLR 

PAN-PA-5050-ACC Spare Accessory kit, PA-5050 920-000052 RoHS 2 See attachment EAR99 NLR 

PAN-PA-5020-ACC Spare Accessory kit, PA-5020 920-000053 RoHS 2 See attachment EAR99 NLR 

PAN-PA-200-ACC Spare Accessory kit, PA-200 920-000054 RoHS 2 See attachment EAR99 NLR 

PAN-PA-3050-ACC Spare Accessory kit, PA-3050 920-000055 RoHS 2 See attachment EAR99 NLR 

PAN-PA-3020-ACC Spare Accessory kit, PA-3020 920-000056 RoHS 2 See attachment EAR99 NLR 

PAN-M-100-ACC Spare Accessory kit, PA-100 920-000057 RoHS 2 See attachment EAR99 NLR 

PAN-PA-5000-
SSD-240-D 

Dual blank 240GB SSD, PA-
5000 Series 

920-000059 RoHS 2 8523.51.0000 5A992 NLR 

PAN-PA-5000-
SSD-240-IMG 

Imaged 240GB SSD, PA-5000 
Series 

920-000061 RoHS 2 8523.51.0000 5A002 ENC 

PAN-PA-500-UPG-
2GB 

Upgrade 2GB DIMM, PA-500 920-000062 RoHS 2 8542.32.0036 4A994 NLR 

PAN-WF-500-HDC Spare HDD Carrier, WF-500 920-000063 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-WF-500-RCK-
2 

PA-WF-500 Rack Mount Kit for 
2 Post Rack – holds one 
device 

920-000064 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-WF-500-RCK-
4 

PA-WF-500 Rack Mount Kit for 
4 Post Rack – holds one 
device 

920-000065 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-WF-500-
BOX-SET 

Box Set, PA-500 - Box 920-000066 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-WF-500-PKG-
SET 

Package Set, PA-WF-500 – 
Box, Foam Inserts 

920-000067 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-WF-500-
PWR-AC 

PA-WF-500 Power Brick, 1U 
Redundant PWS W/ Quiet 
Mode 

920-000068 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-SFP-PLUS-ER Transceiver, SFP+, 10Gbps, 
Extended Range, 40km 

920-000071 RoHS 2 8517.62.0090 5A991 NLR 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PA-7050-
PWR25-AC 

Product: PA-7000 Series spare 
AC PSU, 2500W 

920-000072 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-7050-
FANTRAY 

PA-7000 Series spare fan tray 
(no filter) 

920-000073 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7050-
FLTR 

PA-7000 Series spare filter 920-000074 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-PA-7000-
BLNK 

PA-7000 Series Blank Front 
Panel Plate 

920-000075 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7050-
PKG-SET-CHA 

PA-7000 series packaging set 
- 1 each of ESD unit bag, 
foam set, liner, and shipping 
box 

920-000076 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7050-ACC Spare Accessory Kit for PA-
PA-7050 

920-000077 RoHS 2 See attachment EAR99 NLR 

PAN-PA-7050-
PWR25-DC 

Product: PA-7000 Series spare 
DC PSU, 2500W 

920-000078 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-M-500-ACC Spare Accessory Kit, M-500 920-000079 RoHS 2 See attachment EAR99 NLR 

PAN-PA-7000-
PKG-SET 

PA-7000 series packaging set 
- 1 each of ESD unit bag, 
foam set, and shipping box 
(Pizza box) for use by NPC, 
SMC,LPC, Fantray and 4x AMC 

920-000080 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-FIPS-KIT-
3000 

Osprey FIPS Kit 920-000081 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-FIPS-KIT-200 Merlin FIPS Kit 920-000084 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7000-
PKG-SET-AMC 

PA-7000 Packing box for AMC 
Module 

920-000086 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7050-
PKG-SET-OVRPK 

PA-7000 Packing box for 
single PA-7000 system card, 
fits NPC, SMC, LPC or blank 

920-000087 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7050-
PKG-SET-ACPWR 

PA-7000 Packing box for PA-
7050 AC power supply 

920-000089 RoHS 2 4819.10.0040 EAR99 NLR 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-SHELF-RAIL 
KIT 

Universal rail kit for 4 post 
and 2 post racks 

920-000091 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PA-7000-
AMC-BLNK 

PA-7000 Series AMC Blank 
Front Panel Plate 

920-000093 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-QSFP-
40GBASE-SR4 

QSFP+ 40G transceiver, 100m 
reach, IEEE 802.3ba 
40GBASE-SR4 compliant (PA-
7000) 

920-000094 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP-AOC-
10M 

QSFP+ active optical cable, 
10m length (PA-7000) 

920-000095 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-PWR-C19-
US-L 

Power cord with IEC-60320 
C19 and NEMA L6-20P cord 
ends, 3 meters, (PA-7000 
series) 

920-000096 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-WF-500-ACC Spare Accessory kit, PA-WF-
500 

920-000097 RoHS 2 See attachment EAR99 NLR 

PAN-PA-7050-CHA PA-7050-AC Spare Base 
Chassis 

920-000101 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7050-AC-
CVR 

Cover, PA-7050 AC 
receptacles for DC 
configuration 

920-000103 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-PWR-C19-
AUS 

Power Cord,Australia,15A-
250V,AS/NZS 4417 to IEC-
60320-C19,10-FT, (PA-7000 
series) 

920-000104 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PA-PWR-C19-
EU 

Power Cord, EU 
Continental,16A-250V,CEE 7/7 
to IEC-60320-C19,10-FT, (PA-
7000 series) 

920-000105 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PA-PWR-C19-
JP 

Power Cord,Japan,15A-
250V,NEMA L6-20P to IEC-
60320-C19,10-FT, (PA-7000 
series) 

920-000106 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PA-PWR-C19-
TW 

Power Cord,Taiwan,15A-
250V,CNS 10917-3 to IEC-
60320-C19,10-FT, (PA-7000 
series) 

920-000107 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PA-PWR-C19-
UK 

Power Cord,UK,13A-250V,BS 
1363 to IEC-60320-C19,10-
FT, (PA-7000 series) 

920-000108 RoHS 2 8544.42.9090 EAR99 NLR 

 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PA-PWR-C19-
US 

Power Cord, North 
America,20A-250V,NEMA 6-
20P to IEC-60320-C19,10-FT, 
(PA-7000 series) 

920-000109 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-QSFP-
40GBASE-LR4 

TX/RX,QSFP+,40BASE-
LR4,1310nm,Ethernet 
Rate,10km,Optical 
Transceiver, Pull Tab 

920-000110 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PWR-DC-
CBL-A 

Cable, UL/CSA/TUV 
Approved,15-ft,Condor DC 

920-000111 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-FIPS-KIT-
7050 

Condor FIPS Kit 920-000112 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-3060-
PKG-SET 

PA-3060 packaging set - 1 
each of ESD unit bag, foam 
set, insert tray, and shipping 
box 

920-000113 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-3060-ACC Spare Accessory Kit for PA-
3060 

920-000114 RoHS 2 See attachment EAR99 NLR 

PAN-PA-3060-
PWR-AC 

PSU, 500W AC-DC Dual 
Output Switching, Hot Plug 

920-000115 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-AIRDUCT Airflow, front to back redirect 
kit, 14RU rack, PA-7000 series 

920-000117 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-FIPS-KIT-
7080 

PA-7080 FIPS Kit 920-000119 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
FANTRAY 

Fan Tray Assembly, PA-7080 920-000121 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
FLTR 

Filter, PA-7080 920-000122 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-PA-7080-
PWR25-AC 

PA-7080 Series spare AC PSU, 
2500W 

920-000123 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-7080-
PWR25-DC 

PA-7080 Series spare DC PSU, 
2500W 

920-000124 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-7080-
PKG-SET-CHA 

PA-7080 Chassis Pkg Set 920-000125 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7080-
CHA-AC 

PA-7080 Spare AC Chassis 920-000126 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
CHA-DC 

PA-7080 Spare DC Chassis 920-000127 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
PWR-BLNK 

PA-7080 Chassis PS Blanking 
Plate 

920-000128 RoHS 2 8517.70.0000 EAR99 NLR 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

 
Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PA-7080-
PKG-SET-
FANTRAY 

PA-7080 Fantray Packaging 920-000129 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7080-DC-
PEM-FRU 

PA-7080 DC PEM 920-000131 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
PKG-SET-PEM 

PA-7080 DC PEM Packaging 920-000132 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7080-
PKG-SET-PWR 

PA-7080 AC/DC PSU Packaging 920-000133 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7080-
CHA-MISC 

PA-7080 Cable guide spares 920-000134 RoHS 2 See attachment EAR99 NLR 

PAN-PA-7080-
CBL-MGR 

PA-7080 Cable Manager and 
fiber management 

920-000135 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
MID-BRACKETS 

PA-7080 Chassis Mid mount 
bracket set 

920-000136 RoHS 2 8302.49.6085 EAR99 NLR 

PAN-PA-7080-ACC Spare Accessory Kit for PA-
7080 

920-000137 RoHS 2 See attachment EAR99 NLR 

PAN-FIPS-KIT-
3060 

Osprey Venti FIPS Kit 920-000138 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-QSFP-
40GBASE-ER4 

QSFP+, 40GBASE-ER4, 
1310nm, 4-lane CWDM DFB-LD, 
APD 

920-000139 RoHS 2 8517.62.0090 5A991 NLR 

PAN-FIPS-KIT-M-
100 

M-100 FIPS Kit 920-000140 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7080-
FRONT-
BRACKETS 

PA-7080 Chassis Front mount 
bracket set 

920-000142 RoHS 2 8302.49.6085 EAR99 NLR 

PAN-PA-7080-
PKG-SET-OVRPK 

PA-7080 
Overpack Set 

920-000143 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-FIPS-KIT-M-
500/WF-500 

M-500 
WF-500 
FIPS Kit 

920-000145 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PWR-C19-BR Power 
Cord,Brazil,16A,250V,NBR14136 
AKA IEC 60906-1 to IEC-60320-
C19,10-FT, Brazilian INMETRO 
certified 

920-000146 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PWR-C19-
C20 

Power Cord, North 
America,20A,250V,IEC C19 to 
IEC C20,10ft 

920-000147 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PWR-C13-
C14 

Power Cord, 
North America,15A,250V,IEC 
C13 to IEC C14,10ft, Extension 
cord 

920-000148 RoHS 2 8544.42.9090 EAR99 NLR 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

 
Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PWR-C19-
C14 

Power Cord, North 
America,15A,250V,IEC C14 to 
IEC C19,10ft, Extension cord 

920-000149 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PWR-C19-
US-120V 

Power Cord, North 
America,15A,125V,C19 to 
NEMA 5-15R,10ft, Extension 
cord 

920-000150 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PWR-C19-JP-
120V 

Power Cord, Japan, 
15A,125V,JISC8303 to 
C19,10ft,PSE Certified 

920-000151 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-PWR-1200W-
AC 

1200W Spare AC PSU 920-000152 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PWR-1200W-
DC 

1200W Spare DC PSU 920-000153 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-5200-
FANTRAY 

PA-5200 Series spare fan tray 920-000154 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5200-
FLTR 

PA-5200 Series spare air filter 920-000155 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-PA-5200-ACC Spare Accessory kit, PA-5200 920-000156 RoHS 2 See attachment EAR99 NLR 

PAN-2.5IN-HDD-
240GB-PAIR 

Dual blank 240GB SSD Pair 920-000157 RoHS 2 8523.51.0000 5A992 NLR 

PAN-2.5IN-HDD-
2TB-PAIR 

Dual blank 2TB HDD Pair 920-000160 RoHS 2 8471.70.4065 EAR99 NLR 

PAN-PA-5200-
BOX-SET 

Box Set, 
PA-5200 Series 

920-000162 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5200-
PKG-SET 

PA-5200 Series Chassis Pkg 
Set 

920-000163 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5200-
FLTR-MEDIA 

Air Filter, 
PA-5200 Series 

920-000164 RoHS 2 3921.13.5000 EAR99 NLR 

PAN-PA-5200-
RACK4 

PA-5200 Series 4-Post Cabinet 
Rear Support set 

920-000165 RoHS 2 8302.49.6085 EAR99 NLR 

PAN-PWR-500W-
AC 

PSU, 500W AC-DC Dual 
Output Switching, Hot Plug 

920-000166 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-220-ACC Spare Accessory kit, PA-220 920-000167 RoHS 2 See attachment EAR99 NLR 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PA-220-
RACKTRAY 

PA-220 Dual Rackmount 920-000170 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PA-1RU-
RACK4 

1RU 4 Post Rack Mount Kit 920-000171 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-QSFP28-
100GBASE-LR4 

QSFP28, 100GBASE-LR4, 4-
CH, 10Km, SMF, 1310nm, 
Hot-pluggable w/ Pull Tab 

920-000172 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP28-
100GBASE-SR4 

Transceiver, QSFP28, 
100GBASE-SR4, 850nm, Hot-
pluggable w/ Pull Tab 

920-000173 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP28-
AOC-10M 

Active Optical Cable (AOC), 
100Gbps, QSFP+, 10M 

920-000174 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-220-BOX-
SET 

Box Set, PA- 220 Series – Box 920-000175 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-800-BOX-
SET 

Box Set, PA- 800 Series – Box 920-000176 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-800-PKG-
SET 

Package Set, PA-800 – Box, 
Endcaps, tray, bag 

920-000177 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-800-ACC Spare Accessory Kit, PA-800 920-000180 RoHS 2 See attachment EAR99 NLR 

PAN-M-600-ACC Spare Accessory kit, M-600 920-000181 RoHS 2 See attachment EAR99 NLR 

PAN-M-200-ACC Spare Accessory kit, M-200 920-000182 RoHS 2 See attachment EAR99 NLR 

PAN-PWR-750W-
AC 

AC/DC, 750W, 100V~240Vin, 
12Vout, 62.5A out 

920-000183 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-FIPS-KIT-220 Kingfisher FIPS Kit 920-000184 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-FIPS-KIT-800 Millennium FIPS Kit 920-000185 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-FIPS-KIT-
5200 

Gryphon FIPS Kit 920-000186 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-M-100-UPG-
32GB 

Aviary M-100 32GB Memory 
Upgrade Kit 

920-000187 RoHS 2 8542.32.0036 4A994 NLR 

PAN-PA-3200-ACC Spare Accessory Kit, PA-3200 920-000188 RoHS 2 See attachment EAR99 NLR 

PAN-PA-3200-
SSD-240-IMG 

PA-3200 Series  imaged 
240GB SSD 

920-000189 RoHS 2 8523.51.0000 5A002 ENC 

PAN-PA-3200-
FANTRAY 

PA-3200 Series spare fan tray 920-000190 RoHS 2 8517.70.0000 EAR99 NLR 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PWR-650W-
AC 

650W Spare AC PSU 920-000191 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PWR-650W-
DC 

650W Spare DC PSU 920-000192 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-220R-ACC Spare Accessory kit, PA-220R 920-000193 RoHS 2 See attachment EAR99 NLR 

PAN-PA-3200-
BOX-SET 

Box Set, PA- 3200 Series – 
Box 

920-000194 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-3200-
PKG-SET 

Package Set, PA-3200 – Box, 
inserts, bag 

920-000195 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-600-RCK M-600 4 Post Rack Mount Kit 920-000196 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-M-600-BOX-
SET 

Box Set, 
M-600 Series – Box 

920-000197 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-600-PKG-
SET 

Pkg Set, 
M-600 – 
Box, inserts, bag 

920-000198 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-200-RCK M-200 4 Post Rack Mount Kit 920-000199 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-M-200-BOX-
SET 

Box Set, PA- M-200 Series – 
Box 

920-000200 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-M-200-PKG-
SET 

Package Set, M-200 – Box, 
inserts, bag 

920-000201 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-3.5IN-HDD-
8TB-PAIR 

M-200/M-600 series, Dual 
blank 8TB HDD’s 

920-000202 RoHS 2 8471.70.4065 EAR99 NLR 

PAN-PA-220R-
RACK4 

Kingfisher Rugged Rack 
Mount Kit 

920-000203 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PA-220R-
WALL-MOUNT 

Kingfisher Rugged Wall Mount 
Kit 

920-000204 RoHS 2 8302.41.6080 EAR99 NLR 

PAN-PA-220R-
BOX-SET 

Box Set, PA-220R 920-000205 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-220R-
PKG-SET 

Package Set, PA-220R – Box, 
inserts, bag 

920-000206 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PWR-CORD-
US 

Power Cord, North 
America,10A,125V,NEMA 5-
15P TO 
IEC320C13,6ft,Extension cord 

920-000207 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-M-SSD-
240GB-IMG 

Imaged 240GB SSD, M-
200/600 Series 

920-000210 RoHS 2 8523.51.0000 5A002 ENC 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PWR-CORD-
US-13A 

Power Cord,North 
America,13A-125V,NEMA 5-
15P to IEC-60320-C13,6-FT 

920-000211 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-FIPS-KIT-
3200 

Red Tail FIPS Kit 920-000212 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-2RU-
RACK4 

2RU 4 Post Rack Mount Kit 920-000213 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PWR-CORD-
JP-250V-15A 

Power Cord, Japan,15A, 250V, 
NEMA L6-20P, IEC60320 C13, 
6ft 

920-000214 RoHS 2 8544.42.9090 EAR99 NLR 

PAN-SFP-
100BASE-FX 

Transceiver, SFP, Multi-mode, 
Short, Fiber 

920-000215 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-5200-
SSD-240GB-IMG 

PA-5200 Series imaged 240GB 
SSD 

920-000217 RoHS 2 8523.51.0000 5A002 ENC 

PAN-PA-7050-
FANTRAY-L-A 

PA-7000 Series Gen 2 Spare 
fan tray (Left) 

920-000218 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-7050-
FANTRAY-R-A 

PA-7000 Series Gen 2 Spare 
fan tray (Right) 

920-000219 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-220-PKG-
SET 

Pkg Set, 
PA-220 – 
Box, inserts, bag 

920-000220 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-7050-
FLTR-A 

Gen 2 PA-7000 Series spare 
filter 

920-000221 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-PA-7080-
EMI-FLTR 

PA-7080 spare EMI filte2 920-000222 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-PA-7000-B-
SSD-240GB-IMG 

PA-7000 SMC-B imaged 
240GB SSD 

920-000223 RoHS 2 8523.51.0000 5A002 ENC 

PAN-PWR-DC-
FLTR 

PA-7000 Series DC Filter 920-000224 RoHS 2 8548.90.0100 EAR99 NLR 

PAN-PWR-60W-AC 60W AC Power Brick 920-000225 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-FIPS-KIT-
220R 

Kingfisher Rugged FIPS Kit 920-000226 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-220-
RACK-SINGLE 

PA-220 Single Rack mount 920-000227 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-QSFP-
40GBASE-LM4 

QSFP+, 40GE Universal LM4, 
duplex, 140m OM3, 160m 
OM4, 1km SMF, 1271-1331nm 
CWDM, Hot-pluggable 

920-000228 RoHS 2 8517.62.0090 5A991 NLR 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-SFP-PLUS-
10GBASE-T 

SFP+, RJ-45, 10GBase-T, 30 
meters, 2.5W 

920-000229 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP28-
100GBASE-
CWDM4 

PAN-QSFP28-100GBASE-
CWDM4 

920-000230 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP-
40GBASE-BIDI 

QSFP+, 40Gbps, 900nm, 3.1V 
~ 3.47V, LC Duplex 
Pluggable, BiDi 

920-000231 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-3200-
ZTP-SSD-240-
IMG 

PA-3200 ZTP imaged 240GB 
SSD 

920-000232 RoHS 2 8523.51.0000 5A002 ENC 

PAN-M.2-SSD-
480GB-PAIR 

Dual blank 480GB M.2 SSD 
Pair 

920-000233 RoHS 2 8523.51.0000 5A992 NLR 

PAN-PA-5400-
SSD-480GB-IMG 

Imaged M.2 SSD for PA-5400 
Series 

920-000234 RoHS 2 8523.51.0000 5A002 ENC 

PAN-PA-5450-
PKG-SET 

Package Set,  
PA-5450 – Box, insert, bag 
 

920-000235 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5450-
BOX-SET 

Box Set, PA-5450 920-000236 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-E1.S-4TB Blank 4TB E1.S SSD, PA-5400 
Series 
 

920-000238 RoHS 2 8523.51.0000 5A992 NLR 

PAN-PA-7000-
MSATA-IMG 
 

Imaged mSATA for PA-7000 
Series 
 

920-000239 RoHS 2 8523.51.0000 5A002 ENC 

PAN-PA-5450-CHA PA-5450 Spare Chassis 920-000240 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-QSFP28-
100GBASE-BIDI 

QSFP28, 100Gbps, 850nm, 
3.1 V ~ 3.46 V LC Duplex 
Pluggable with pull tab 

920-000241 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP28-
100GBASE-ER4 

QSFP28,100Gbps ER4 lite, 
multi-wavelength 

920-000242 RoHS 2 8517.62.0090 5A991 NLR 

PAN-QSFP28-
DAC-5M 

QSFP28-DAC-5M, 100G DAC 
Cable 

920-000244 RoHS 2 8517.62.0090 5A991 NLR 

PAN-PA-220-PWR-
AC 

PA-220 Spare PSU 920-000245 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PWR-
2200W-AC 

PA-5450 Series spare AC PSU, 
2200W 

920-000247 RoHS 2 8504.40.8500 EAR99 NLR 

 

 

 

THIS SPACE LEFT INTENTIONALLY BLANK 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-PWR-
2200W-DC 

PA-5450 Series spare DC PSU, 
2200W 

920-000248 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-5450-
FAN 

PA-5450 Spare Fan 920-000249 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-T-S-SX TAA Transceiver, SFP, 
1000BASE-SX, 550m, MMF, 
850nm, Hot-pluggable 

920-000250 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-S-LX 
 

TAA Transceiver, SFP, 
1000BASE-LX, 10Km, SMF, 
1310nm, Hot-pluggable 

920-000251 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-S-CG TAA Transceiver, SFP, RJ-45, 
Copper, Tri-Rate 
10/100/1000baseT Gigabit 
Ethernet, 3.3V, 100 meters 

920-000252 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-S-PLUS-SR TAA Transceiver, TX/RX 
Optical Fiber Transceivers, 
10Gbps 20-Pin SFP+ Short 
Range 

920-000253 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-S-PLUS-LR TAA Transceiver, TX/RX 
Optical Fiber Transceivers, 
10Gbps 20-Pin SFP+ Long 
Range 

920-000254 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-Q-
40GBASE-SR4 

TAA QSFP+ 40G transceiver, 
100m reach, IEEE 802.3ba 
40GBASE-SR4 compliant (PA-
7000) 

920-000255 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-Q-
40GBASE-LR4 

TAA TX/RX,QSFP+,40BASE-
LR4,1310nm,Ethernet 
Rate,10km,Optical 
Transceiver, Pull Tab 

920-000256 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-Q28-
100GBASE-LR4 

TAA QSFP28, 100GBASE-LR4, 
4-CH, 10Km, SMF, 1310nm, 
Hot-pluggable w/ Pull Tab 

920-000257 RoHS 2 8517.62.0090 5A991 NLR 

PAN-T-Q28-
100GBASE-SR4 

TAA Transceiver, QSFP28, 
100GBASE-SR4, 850nm, Hot-
pluggable w/ Pull Tab 

920-000258 RoHS 2 8517.62.0090 5A991 NLR 

PAN-CG-ION-
1000-PWR 

ION 1000 Power Supply 920-000259 RoHS 2 8504.40.8500 EAR99 NLR 

 

 

 

 

 

 

THIS SPACE LEFT INTENTIONALLY BLANK 

 

 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

 
Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

PAN-CG-ION-
1000-RACK 

ION 1000 Rackmount 920-000260 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-CG-ION-
1000-WALL 

ION 1000 Wall Mount 920-000261 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PWR-50W-
AC 

PA-440/450/460 Power 
Supply 

920-000264 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-400-
RACKTRAY 

PA-440/450/460 Rackmount 920-000265 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-CG-ION-
2000-RACK 

ION 2000 Rackmount 920-000267 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-CG-ION-
2000-WALL 

ION 2000 Wall Mount 920-000268 RoHS 2 8302.42.3065 EAR99 NLR 

 

PAN-CG-ION-
2000-PWR 

ION 2000 Power Supply 920-000269 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-CG-ION-
7000-FAN 

ION 7000 Fantray 920-000270 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-CG-ION-
7000-PWR 

ION 7000 Power Supply 920-000271 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-CG-ION-
7000-RAILKIT 

ION 7000 Rackmount 920-000272 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-CG-ION-
9000-FAN 

ION 9000 Fantray 920-000273 RoHS 2 8421.39.8015 EAR99 NLR 

PAN-CG-ION-
9000-PWR 

ION 9000 Power Supply 920-000274 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-CG-ION-
9000-RAILKIT 

ION 9000 Rackmount 920-000275 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PA-400-
BOX-SET 

Box set, PA-440/450/460 920-000277 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-400-
PKG-SET 

Package Set,  
PA-440/450/460 – Box, 
insert, bag 

920-000278 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-PA-5400-
PWR-BLANK-A-
OSF 

PA-5400 Chassis PS Blanking 
Plate 

920-000280 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-5450-
RACK4 

PA-5450 Rack Mount Rail Kit 920-000281 RoHS 2 8302.42.3065 EAR99 NLR 

PAN-PA-5450-
FANTRAY 

PA-5450 Fan Tray Drawer 
(No Fan) 

920-000282 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-ION-1000-
PKG-SET 

Package Set,  
ION 1000 - Box, insert, bag 

920-000283 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-1000-
BOX-SET 

Box set, ION 1000 920-000284 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-2000-
PKG-SET 

Package Set,  
ION 2000 – Box, insert, bag 

920-000285 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-2000-
BOX-SET 

Box set, ION 2000 920-000286 RoHS 2 4819.10.0040 EAR99 NLR 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

Palo Alto 
Networks 
Product 

Description PAN Part 
Number  

RoHS HTS ECCN License 

Should you require any additional information, please contact the Operations Department at 
operations@paloaltonetworks.com 
 
 
 
 

PAN-ION-3000-
PKG-SET 

Package Set,  
ION 3000 – Box, insert, bag 

920-000287 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-3000-
BOX-SET 

Box set, ION 3000 920-000288 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-7000-
PKG-SET 

Package Set,  
ION 7000 – Box, insert, bag 

920-000289 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-9000-
PKG-SET 

Package Set,  
ION 9000 – Box, insert, bag 

920-000290 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-ION-9000-
BOX-SET 

Box set, ION 9000 920-000291 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-CG-ION-
CONSOLE-CABLE 

USB to RJ45 Console cable 920-000292 RoHS 2 8544.42.2000 EAR99 NLR 

PAN-PA-5400-BC-
A 
 

PA-5400, Base board 
assembly 

920-000293 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PA-5400-
BLNK-OSF 
 

PA-5400, Blade Blanking Plate 920-000294 RoHS 2 8517.70.0000 EAR99 NLR 

PAN-PWR-25W-
AC 

PA-410 Power supply 920-000296 RoHS 2 8504.40.8500 EAR99 NLR 

PAN-PA-5400-
PKG-SET-CARD 
 

Package Set, PA-5400 – Box, 
End Caps, Inserts 

920-000297 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-CBL-QSFP-
QSFP28-BO-2M 
 

Cable, Fiber, OM4 Plenum, 
12F MTP to 8, 4 Duplex LC, 
Breakout, 2M, 

920-000298 RoHS 2 8517.62.0090 5A991 NLR 

 
PAN-PA-5450-
PALLET 

 

Pallet set, PA-5400 – Pallet, 
blade overpack Box 

920-000299 RoHS 2 4819.10.0040 EAR99 NLR 

PAN-SFP28-
25GBASE-SR 

TAA Transceiver, Optical, 
SFP28 Singe Rate 25GBASE-
SR, 100-400m, MMF, OM4, 
850nm 

920-000334 RoHS 2 4819.10.0090 EAR991 NLR 

PAN-SFP28-
25GBASE-LR 

TAA Transceiver, Optical, 
SFP28 Single Rate 
25GEthernet-LR, 10km, 
1310nm DFB 

920-000335 RoHS 2 4819.10.0090 EAR991 NLR 

PAN-T-S28-
25GBASE-SR 

TAA Transceiver, Optical, 
SFP28 Singe Rate 25GBASE-
SR, 100-400m, MMF, OM4, 
850nm 

920-000336 RoHS 2 4819.10.0090 EAR991 NLR 

PAN-T-S28-
25GBASE-LR 

TAA Transceiver, Optical 
SFP+, SFP28 25GBASE LR, 
1310nm, 25.7 Gbps, SMF, 
10km, LC 

920-000337 RoHS 2 4819.10.0090 EAR991 NLR 

http://www.paloaltonetworks.com/
mailto:operations@paloaltonetworks.com


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-200 Accessory Kit HTS ECCN License 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Merlin, PA-200 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Power Supply, AC/DC Adapter, 40W, PA-200 8504.40.8500 EAR99 NLR 

Quick Start Card, PA-200 4911.99.8000 EAR99 NLR 

Package Contents List, PA-200 4911.99.8000 EAR99 NLR 

Before You Begin, PA-200 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-200 4911.99.8000 EAR99 NLR 

 

PA-220 Accessory Kit Ver 2.0 HTS ECCN License 

Rubber Feet, Bump-on, .50 Dia, X .140, W/ Adhesive 4016.99.3550 EAR99 NLR 

Cable Tie, 6.2" Length, Nylon, Natural 3926.90.9990 EAR99 NLR 

Screw, PH Phillips, .750”LG, Type AB Tapping, ZI STL 7318.15.6080 EAR99 NLR 

Screw and Anchor, Set Of 6, For Hollow Wall Application 7318.15.6080 EAR99 NLR 

Velcro, One-Wrap Tape, 3/4" Wide X 9" Long, Blk 6307.90.9889 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Desiccant, Silica Gel,Pillow Pack, 1”x 0.625" 2811.22.1000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 8" Length x 4" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Kingfisher, PA-220 3919.90.5060 EAR99 NLR 

Label, Power Supply, Kingfisher, PA-220 3919.90.5060 EAR99 NLR 

Label, CLEI, FWUPAA6CAA, PAN-PA-220-PWR-AC 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Console, USB to Micro USB, 6ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, Grey, Shielded, 7 ft 8544.42.2000 EAR99 NLR 

Bracket, Wall Mount, Power Supply 8302.41.6080 EAR99 NLR 

Power Supply, AC/DC Adapter, 12VDC, 3.33A, with Screw-Lock Plug, UL 62368-1, 2nd Edition 8504.40.8500 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-220 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-220 4911.99.8000 EAR99 NLR 

 

 

 

 

                                             THIS SPACE LEFT INTENTIONALLY BLANK 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-220R Accessory Kit HTS ECCN License 

Screw, #6-32x1/4”L, PH, FH, MS, ZI STL, NYLOK 7318.15.6080 EAR99 NLR 

Screw,#6-32x5/16”L,PH,100 deg FH,MS,ZI STL,NYLOK 7318.15.6080 EAR99 NLR 

Rubber Feet, Bump-on, .50 Dia, X .140, W/ Adhesive 4016.99.3550 EAR99 NLR 

Conn, 3.81mm Pitch, Horizontal Plug, with Retention Screws, 6 Circuits, Tin Contacts 8536.69.8000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Desiccant, Silica Gel,Pillow Pack, 1”x 0.625" 2811.22.1000 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Kingfisher, PA-220R 3919.90.5060 EAR99 NLR 

Cable Assembly, Console, DB9 Female to RJ45 Male, Cat 5, 6,5 feet 8544.42.2000 EAR99 NLR 

Cable, Console, USB to Micro USB, 6ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, Grey, Shielded, 7 ft 8544.42.2000 EAR99 NLR 

Block, DIN Rail Mounting, 20mm Width 8302.42.3065 EAR99 NLR 

Bracket, Mounting, 35mm DIN Rail 8302.42.3065 EAR99 NLR 

Sub-Assembly, DIN Rail Mounting Bracket 8302.42.3065 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-220R Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-220R 4911.99.8000 EAR99 NLR 

    

PA-400 Accessory Kit HTS ECCN License 

Cable Tie, 6.2" Length, Nylon, Natural 3926.90.9990 EAR99 NLR 

Screw, PH Phillips, .750”LG, Type AB Tapping, ZI STL 7318.15.6080 EAR99 NLR 

Screw and Anchor, Set Of 6, For Hollow Wall Application 7318.15.6080 EAR99 NLR 

Velcro, One-Wrap Tape, 3/4" Wide X 9" Long, Blk 6307.90.9889 EAR99 NLR 

Desiccant, Silica Gel,Pillow Pack, 1”x 0.625" 2811.22.1000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 8" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, Power Supply, Accessories Kit 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Generic 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Console, USB to Micro USB, 6ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, Grey, Shielded, 7 ft 8544.42.2000 EAR99 NLR 

Mech, Bracket, Wall Mount, 25W, 40W, & 50W Power Supply 8302.42.3065 EAR99 NLR 

Power Supply, AC/DC Adapter, 50W, 12VDC Output, 4.17A, Right-angle connector with locking nut 8504.40.8500 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-440, PA-450, PA-460 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-400 Series 4911.99.8000 EAR99 NLR 

 
 
 
 
 
 

   

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-410 Accessory Kit HTS ECCN License 

Cable Tie, 6.2" Length, Nylon, Natural 3926.90.9990 EAR99 NLR 

Screw, PH Phillips, .750”LG, Type AB Tapping, ZI STL 7318.15.6080 EAR99 NLR 

Hdwr, Screw w/Plastic Anchor, Pan Head, Phillips, #6-20 Type AB, 1.25mm L, Steel, Zinc 7318.15.6080 EAR99 NLR 

Velcro, One-Wrap Tape, 3/4" Wide X 9" Long, Blk 6307.90.9889 EAR99 NLR 

Desiccant, Silica Gel,Pillow Pack, 1”x 0.625" 2811.22.1000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 8" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, Power Supply, Accessories Kit 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Generic 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, Grey, Shielded, 7 ft 8544.42.2000 EAR99 NLR 

Mech, Bracket, Wall Mount, 25W, 40W, & 50W Power Supply 8302.42.3065 EAR99 NLR 

Power Supply, AC/DC Adapter, 25W, 12VDC Output, 2.08A, Right-angle connector without locking nut 8504.40.8500 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-410 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-410 4911.99.8000 EAR99 NLR 

    

PA-500 Accessory Kit HTS ECCN License 

Screw, #6-32x5/16"L, PH, FH, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Peregrine, PA-500 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable Assembly, Console, DB9 Female to RJ45 Male, Cat 5, 6,5 feet 8544.42.2000 EAR99 NLR 

Rack Mount Ear 8302.42.3065 EAR99 NLR 

Package Contents List, PA-500 4911.99.8000 EAR99 NLR 

Quick Start Card, PA-500 (Peregrine) 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-500 4911.99.8000 EAR99 NLR 

 
 
 
 

                                             THIS SPACE LEFT INTENTIONALL BLANK 
 
 
 
 
 

   

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-820 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Screw,#6-32x5/16”L,PH,100 deg FH,MS,ZI STL,NYLOK 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Millennium, PA-820 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, USB to Micro USB, 6ft 8544.42.2000 EAR99 NLR 

Bracket, 1RU, Left/Right Mtg Ear 8302.42.3065 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-800 Series Quick Start 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-800 4911.99.8000 EAR99 NLR 

 
PA-850 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Screw,#6-32x5/16”L,PH,100 deg FH,MS,ZI STL,NYLOK 7318.15.6080 EAR99 NLR 

Velcro, Self Grip Strap, 6" Long x .5" Wide 6307.90.9889 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Millennium, PA-850 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, USB to Micro USB, 6ft 8544.42.2000 EAR99 NLR 

Bracket, 1RU, Left/Right Mtg Ear 8302.42.3065 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-800 Series Quick Start 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-800 4911.99.8000 EAR99 NLR 

 

 

 

 

                                             THIS SPACE LEFT INTENTIONALL BLANK 

 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-3020 Accessory Kit HTS ECCN License 

Screw, #6-32x5/16"L, PH, FH, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Osprey Small, PA-3020 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable Assembly, Console, DB9 Female to RJ45 Male, Cat 5, 6,5 feet 8544.42.2000 EAR99 NLR 

Bracket, Mounting, Osprey, PA-30X0 8302.42.3065 EAR99 NLR 

Guide, PA-3000 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Package Contents List, PA-3020 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-3000 Series 4911.99.8000 EAR99 NLR 

 
PA-3050 Accessory Kit HTS ECCN License 

Screw, #6-32x5/16"L, PH, FH, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Osprey, PA-3050 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable Assembly, Console, DB9 Female to RJ45 Male, Cat 5, 6,5 feet 8544.42.2000 EAR99 NLR 

Bracket, Mounting, Osprey, PA-30X0 8302.42.3065 EAR99 NLR 

Guide, PA-3000 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Package Contents List, PA-3050 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-3000 Series 4911.99.8000 EAR99 NLR 

 

 

 

 

                                             THIS SPACE LEFT INTENTIONALL BLANK 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-3060 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Screw,#6-32x5/16”L,PH,100 deg FH,MS,ZI STL,NYLOK 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Osprey, PA-3060 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable Assembly, Console, DB9 Female to RJ45 Male, Cat 5, 6,5 feet 8544.42.2000 EAR99 NLR 

Bracket, Mounting, Osprey Venti, PA-3060 8302.42.3065 EAR99 NLR 

Guide, PA-3000 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Package Contents List, PA-3060 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-3000 Series 4911.99.8000 EAR99 NLR 

 

PA-3200 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Screw, #8-32x5/16"L, PH, FH, MS, STL, ZP, Nyloc, RoHS 7318.15.6080 EAR99 NLR 

Velcro, Self Grip Strap, 6" Long x .5" Wide 6307.90.9889 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Red Tail, PA-3200 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Cable, Console, USB to Micro USB, 6ft 8544.42.2000 EAR99 NLR 

Bracket, L/R Mounting Ear, 2 RU Chassis 8302.42.3065 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-3200 Series Quick Start 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-3200 4911.99.8000 EAR99 NLR 

 
 
 
 
 

                                          THIS SPACE LEFT INTENTIONALLY BLANK 
 
 
 

   

  

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-5020 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, PN, MS, Type-F, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x3/4"L, PH, PN, MS, Type-F, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #8-32x.375"L, PH, FH, MS, SS, RoHS 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Hawk, PA-5020 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Mounting Bracket, Mid Mount, Hawk 8302.42.3065 EAR99 NLR 

Quick Start Card, PA-5000 Series 4911.99.8000 EAR99 NLR 

Package Contents List, PA-5020 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-5000 Series 4911.99.8000 EAR99 NLR 

 
PA-5050 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, PN, MS, Type-F, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x3/4"L, PH, PN, MS, Type-F, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #8-32x.375"L, PH, FH, MS, SS, RoHS 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Hawk, PA-5050 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Mounting Bracket, Mid Mount, Hawk 8302.42.3065 EAR99 NLR 

Quick Start Card, PA-5000 Series 4911.99.8000 EAR99 NLR 

Package Contents List, PA-5050 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-5000 Series 4911.99.8000 EAR99 NLR 

 

 

 

 

                                             THIS SPACE LEFT INTENTIONALL BLANK 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-5060 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, PN, MS, Type-F, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x3/4"L, PH, PN, MS, Type-F, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #8-32x.375"L, PH, FH, MS, SS, RoHS 7318.15.6080 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Hawk, PA-5060 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Mounting Bracket, Mid Mount, Hawk 8302.42.3065 EAR99 NLR 

Package Contents List, PA-5060 4911.99.8000 EAR99 NLR 

Quick Start Card, PA-5000 Series 4911.99.8000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-5000 Series 4911.99.8000 EAR99 NLR 

 
PA-5200 Accessory Kit HTS ECCN License 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #12-24x1/2"L, PH, TRUSS HD, MS, SS 7318.15.6080 EAR99 NLR 

Screw, #8-32x5/16"L, PH, FH, MS, STL, ZP, Nyloc, RoHS 7318.15.6080 EAR99 NLR 

Velcro, Self Grip Strap, 6" Long x .5" Wide 6307.90.9889 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Gryphon, PA-5200 3919.90.5060 EAR99 NLR 

Power Cord, AC, North America, 10A/125V, 75C, 1.8M, St., SVT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Bracket, L/R Mounting Ear, Gryphon 8302.42.3065 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-5200 Series Quick Start 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-5200 4911.99.8000 EAR99 NLR 

 

 

 

 

                                             THIS SPACE LEFT INTENTIONALL BLANK 

  

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-5450 Accessory Kit HTS ECCN License 

ESD Device, Fabric Wrist Strap, 6 ft Cord 8536.30.8000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Generic 3919.90.5060 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-5450 Quick Start 4911.99.8000 EAR99 NLR 

Package Contents List, PA-5450 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-5400 Series 4911.99.8000 EAR99 NLR 

 

PA-7050 Accessory Kit HTS ECCN License 

ESD Device, Fabric Wrist Strap, 6 ft Cord 8536.30.8000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Condor, PA-7050 3919.90.5060 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Package Contents List, PA-7050 4911.99.8000 EAR99 NLR 

Guide, PA-7050 Quick Start 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-7000 Series 4911.99.8000 EAR99 NLR 

    

PA-7080 Accessory Kit HTS ECCN License 

ESD Device, Fabric Wrist Strap, 6 ft Cord 8536.30.8000 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, California Condor, PA-7080 3919.90.5060 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Cable, Console, DB9 Female to RJ45 Male,Cat 5, 6 feet, Non-Keyed 8544.42.2000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, PA-7080 Quick Start 4911.99.8000 EAR99 NLR 

Package Contents List, PA-7080 4911.99.8000 EAR99 NLR 

China RoHS Declaration, PA-7000 Series 4911.99.8000 EAR99 NLR 

 

 

 

 

                                             THIS SPACE LEFT INTENTIONALL BLANK 

 

 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PAN-PA-7080-CHA-MISC HTS ECCN License 

Screw, #6-32x3/4"L, PH, PN, MS, W/INT. SEM, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #6-32x5/16"L, PH, PN, MS, W/INT. SEM, STL, ZP 7318.15.6080 EAR99 NLR 

Latch, Safety Retainer, Power Cord 8302.42.3065 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 6" Length x 4" Width 3923.21.0020 EAR99 NLR 

Tape, 3" Wide, Reinforced, Pre-Printed Kraft Packaging, w/ Palo Alto Networks Logo, 72mm x 137m 3919.10.2055 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 4" Length x 3" Width 3923.21.0020 EAR99 NLR 

Box, Shipping, Spares 9 x 6 x 4 4819.10.0040 EAR99 NLR 

Label, Blank, Paper (Smooth White) 4.00"x2.50" 3919.90.5060 EAR99 NLR 

Guide, Fiber, Plastic, Fiber Tray, PA-7080 3926.90.9990 EAR99 NLR 

Guide, Cable, Wire Form 7616.99.5175 EAR99 NLR 

Cover, 4-Pos Terminal Block 3926.90.9990 EAR99 NLR 

Sheet, Website Link, HW Accessories Cross Ref and RoHS Declaration of Conformity 4911.99.8000 EAR99 NLR 

    

M-100 Accessory Kit HTS ECCN License 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Aviary, M-100 3919.90.5060 EAR99 NLR 

Cable, Console, DB9 to DB9, 6 ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Power Cord, AC, North America, 13A/125V, 60C, 1.8M, St., SJT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, M-100 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Package Contents List, M-100 4911.99.8000 EAR99 NLR 

China RoHS Declaration, M-100 4911.99.8000 EAR99 NLR 

    

M-200 Accessory Kit HTS ECCN License 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Neovista Small, M-200 3919.90.5060 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Power Cord, AC, North America, 13A/125V, 60C, 1.8M, St., SJT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Cable, Console, DB9 to DB9, 6 ft, Low Profile 8544.42.2000 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, M-200 and M-600 4911.99.8000 EAR99 NLR 

Guide, M-200 and M-600 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Package Contents List, M-200 4911.99.8000 EAR99 NLR 

 
 
 

       THIS SPACE LEFT INTENTIONALLY BLANK 
 
 
 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

 

M-500 Accessory Kit HTS ECCN License 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Aviary Large, M-500 3919.90.5060 EAR99 NLR 

Cable, Console, DB9 to DB9, 6 ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Power Cord, AC, North America, 13A/125V, 60C, 1.8M, St., SJT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Guide, M-500 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Package Contents List, M-500 4911.99.8000 EAR99 NLR 

China RoHS Declaration, M-500 4911.99.8000 EAR99 NLR 

    

M-600 Accessory Kit HTS ECCN License 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, Neovista Large, M-600 3919.90.5060 EAR99 NLR 

Cable, Console, DB9 to DB9, 6 ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Power Cord, AC, North America, 13A/125V, 60C, 1.8M, St., SJT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

China RoHS Declaration, M-200 and M-600 4911.99.8000 EAR99 NLR 

Guide, M-200 and M-600 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Package Contents List, M-600 4911.99.8000 EAR99 NLR 

    

WF-500 Accessory Kit HTS ECCN License 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 12" Length x 9" Width 3923.21.0020 EAR99 NLR 

Bag, 4-Mil Thick, Reclosable, Poly, Clear, 12" Length x 10" Width 3923.21.0020 EAR99 NLR 

Label, End User License Agreement ("EULA") 3919.90.5060 EAR99 NLR 

Label, White, Blank, 2.0" x 1.0" 3919.90.5060 EAR99 NLR 

Label, Accessory Kit, WildFire, WF-500 3919.90.5060 EAR99 NLR 

Cable, Console, DB9 to DB9, 6 ft 8544.42.2000 EAR99 NLR 

Cable, Ethernet, CAT6, White, 7 ft 8544.42.2000 EAR99 NLR 

Power Cord, AC, North America, 13A/125V, 60C, 1.8M, St., SJT, NEMA-5-15P (YP-12) to IEC-C13 (YC-12) 8544.42.9090 EAR99 NLR 

Sheet, Limited Warranty 4911.99.8000 EAR99 NLR 

Package Contents List, WF-500 4911.99.8000 EAR99 NLR 

Guide, WF-500 Quick Start (English ONLY) 4911.99.8000 EAR99 NLR 

Sheet, MS Licenses Customer Support, WF-500 4911.99.8000 EAR99 NLR 

China RoHS Declaration, WF-500 4911.99.8000 EAR99 NLR 

 

 

 

http://www.paloaltonetworks.com/


 

Palo Alto Networks, Inc.  3000 Tannery Way, Santa Clara, CA  95054 D. 408.753.4000 F. 408.753.4001  www.paloaltonetworks.com 

Document No. 810-000077-0BE 

 

PA-7050 FIPS Cover HTS ECCN License 

Screw,#6-32x1/4L,PH,PAN HD,EXT SEMS,ZI STL 7318.15.6080 EAR99 NLR 

Standoff,3/8",Round,F-F,#6-32,2-1/2"L,Aluminum 7616.99.5190 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 5" Length x 5" Width 3923.21.0020 EAR99 NLR 

Tape,2" Wide,Pre-Printed Kraft Packaging Tape w/ Palo Alto Networks Logo 3919.10.2055 EAR99 NLR 

Box, FIPS, Condor PA-7050 4819.10.0040 EAR99 NLR 

Label, Blank, Paper (Smooth White) 4.00"x2.50" 3919.90.5060 EAR99 NLR 

Label, FIPS, Tamper 3919.90.5060 EAR99 NLR 

Label, shipping, FIPS 3919.90.5060 EAR99 NLR 

Bracket,Front Cover Support,Condor FIPS Kit 8302.42.3065 EAR99 NLR 

Bracket,Cable Management,Front,Condor FIPS Kit 8302.42.3065 EAR99 NLR 

Cover,Power Supply Exhaust Vent,Condor FIPS Kit 3926.90.9990 EAR99 NLR 

Cover,Rear Fan Exhaust Vent,Condor FIPS Kit 3926.90.9990 EAR99 NLR 

Cover,Front Chassis,Condor FIPS Kit 3926.90.9990 EAR99 NLR 

Guide, Installation, FIPS, Condor PA-7050 4911.99.8000 EAR99 NLR 

    

PA-7080 FIPS Cover HTS ECCN License 

Screw, #10-32x3/4"L, PH, TRUSS HD, MS, STL, ZP 7318.15.6080 EAR99 NLR 

Screw, #8-32x.375"L, PH, FH, MS, SS, RoHS 7318.15.6080 EAR99 NLR 

Screw,#4-40x1/2”L,PH,PAN HD,EXT SEMS,ZI STL 7318.15.6080 EAR99 NLR 

Bag, 2-Mil Thick, Reclosable, Poly, Clear, 5" Length x 5" Width 3923.21.0020 EAR99 NLR 

Tape,2" Wide,Pre-Printed Kraft Packaging Tape w/ Palo Alto Networks Logo 3919.10.2055 EAR99 NLR 

Box, FIPS, Condor PA-7080 4819.10.0040 EAR99 NLR 

Foam Set, FIPS, PA-7080 3923.90.0080 EAR99 NLR 

Label, Blank, Paper (Smooth White) 4.00"x2.50" 3919.90.5060 EAR99 NLR 

Label, FIPS, Tamper 3919.90.5060 EAR99 NLR 

Label, shipping, FIPS 3919.90.5060 EAR99 NLR 

Cover, Front, FIPS Kit, California Condor 3926.90.9990 EAR99 NLR 

Bracket, Front Cover Mtg for 2-Post Frame, California Condor FIPS 8302.42.3065 EAR99 NLR 

Panel, Top, Opaque, California Condor FIPS 3926.90.9990 EAR99 NLR 

Guide, Installation, FIPS, Condor PA-7080 4911.99.8000 EAR99 NLR 

 

 

 

 

END OF DOCUMENT 

http://www.paloaltonetworks.com/

